Anrebpa normkun Ha cny>xée
pa3BeaKku

«...MNN pa3raiaem 3aragky
«YepHoro fuwmka»..."



3aKOHbI anredbpbl NOrnku

20 (a/\b)v(c_mb)sb [lng norieckoro
3AKOH HCKIOUEHAS (CKIEHBAHHA) . CHOKCHHA
1 | (@vb)a(avb)=b Jlna norieckoro
YMHOKCHHS
(]ﬁm:ﬁmmwﬁ 6 | (avb)ac=(anc)v(bac) f.nf:)ﬂ :emeckoro
C1p leﬂu}{) 3AKOH 7 (a/\b)VCE(aVC)/\(bVC) Dmnomqecxoro
YMHOKEHHA
13 UV(a/\b)sa " | [ins normueckoro
3aKOH MOTOLEHHA av(‘”‘b)EaVb, COKEHHS
19 OA(aVb)Ea ¥ [ins norweckoro
a/\(aVb)Ea/\b YMHOKEHHS




"wccnegoBaHme..."
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lpumep cocraBneHns CLAHQ.

X y z f(x,y, z)
0 0 0 1
0 0 1 0
0 1 0 1
0 1 1 0
1 0 0 1
1 0 1 0
1 1 0 0
1 1 1 0

f(x,y,z):(XAy/\z)v(g/\y/\E)v(XA§/\2)
(a/\b)v(g/\b)zb

f(xy,z) = (; A ;) V(X /\; /\;)

(anc)v(bnrc)=(avb)rc

f(6,9,2) =2 A(xV (XA Y))

av(a/\b)zavb

f(6,y,2)=zA(xV )
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f(x,y,z)
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lpumep cocraBneHnss CKHQ.

f(x,y,z):(xvyvg)/\(xv;vg)/\(xvyvz)

f(x,y, 2)
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(avb)/\(avb)zb
Jy,z)=(xvyvz)A(yVz)

(ave)yn(bve)=(anb)ve
Sy =((xv ) Ay)vz

a/\(avb)za/\b

f(xp,2)=(xAY)Vz
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f(x,y,z)







